

$$\int_0^1 t^{z-1} e^t dt + \left( \sum_{k=1}^{n-1} \frac{z-1 P_{z-k}}{z k+1} \right) e = (z-1)! \quad \text{--- (1)}$$

$$\begin{aligned} \int_0^1 t^3 e^t dt &= \int_0^1 t^3 (e^t)' dt = [t^3 e^t]_0^1 - \int_0^1 3t^2 e^t dt = e - 3 \int_0^1 t^2 (e^t)' dt = e - 3 [t^2 e^t]_0^1 + 3 \int_0^1 2t e^t dt \\ &= e - 3e + 6 \int_0^1 t (e^t)' dt = -2e + 6 [t e^t]_0^1 - 6 \int_0^1 e^t dt = -2e + 6e - 6 [e^t]_0^1 = -2e + 6 \quad \text{--- (1)} \end{aligned}$$

$n=2$  のとき (1) の左辺 =  $\int_0^1 t^3 e^t dt + \frac{3!}{3} e = -2e + 6 + \frac{1}{3} \frac{3!}{1!} e = 6$ , (1) の右辺 =  $3! = 6$ . 一致する

$n=2$  のとき (1) は成り立つ --- (2)

$n=2$  のとき (1) は成り立つと仮定する

$$\begin{aligned} \int_0^1 t^{z(a+1)-1} e^t dt &= \int_0^1 t^{z(a+1)} (e^t)' dt = [t^{z(a+1)} e^t]_0^1 - \int_0^1 (z(a+1)) t^{z(a+1)-1} e^t dt = e - (z(a+1)) \int_0^1 t^{z(a+1)-1} e^t dt \\ &= e - (z(a+1)) [t^{z(a+1)} e^t]_0^1 + (z(a+1)) \int_0^1 z a t^{z(a+1)-1} e^t dt = e - (z(a+1)) e + (z(a+1)) z a \left\{ (z(a+1)-1)! - \left( \sum_{k=1}^{a-1} \frac{(z(a+1)-1)!}{(z(a+1)-1-k)!} \frac{1}{z k+1} \right) e \right\} \\ &= -z a e + (z(a+1))! - \left( \sum_{k=1}^{a-1} \frac{(z(a+1)-1)!}{(z(a+1)-1-k)!} \frac{1}{z k+1} \right) e - \frac{(z(a+1)-1)!}{z(a+1)-1} e + \frac{(z(a+1)-1)! z a}{z(a+1)-1} e \\ &= (z(a+1))! - \left( \sum_{k=1}^a \frac{(z(a+1)-1)!}{(z(a+1)-1-k)!} \frac{1}{z k+1} \right) e \end{aligned}$$

$$\ast z(a+1)-1 P_{z(a+1)-z a} = \frac{(z(a+1)-1)!}{(z(a+1)-1-k)!}$$

よって  $\int_0^1 t^{z(a+1)-1} e^t dt + \left( \sum_{k=1}^{a-1} \frac{z(a+1)-1 P_{z(a+1)-z k}}{z k+1} \right) e = \{z(a+1)-1\}!$  一致する

$n=a+1$  のとき (1) は成り立つ --- (3)

(2)(3) より、数学的帰納法より、任意に示された。